% m=(9)E1L
B E=E@E

IIH

:TE]:(EI),.,ll
BiE BT (EH) B2
ﬂ@ JRIE : ' (8)%20

-azan%ﬁn,m‘* (8) 8358822 ARAIE : @=
ARG E : E
C

: E—

F2% 09:10-09:50 § ¥

Pl 10: 00 [llz=mx@eEn) s=@ee Hlz=mx . s-@=z1cE B 2= 5—(2)z35m22 |« CCHEE
3 | =3 ZRRF20:E7EC307EH 25— (%5)%28(233 7 N
g 11:00 B sEx@Een) s @®BE20 Bz -
%|11:10
41 | Fat A% SRR : B
114 | & | 12:00
F%[13:10
— k’- -
T | 5 | 5% 2RAMHG
g | 8| 14:00
15 | g | 14 1o MM EBIER - RRDERE . B 2raie . s-onzsce [P resnee  s—@)wzc 14 : 00-15 :
5 ;g, I m=(@)@21 EEmoA212)  [llseen s (@)z1482
| e

(=)| # | 15: 00

=]

EREE . 8 (Z)%20

h%ﬂﬁﬂﬁ@ﬁﬁ - s=maEEse [P Ee

B(f)F3M(CE9

Z7E—REBHER(FREX)
BERMERARESE . 5835122 g EANE : E=

= I 10 Blzeys  s—@zus2  |[QllEsss: -8l 11 CL L
s | 16 : 00 B zunsas . s-@ans [P resss 5119 P] AR E—
EHRE | B(2)%20 Bl e#xxcicirEce ) : £13D205%
16 : 10 X%

% | 03:00 [ =ExEERERE: BHEL | : BB B G EY: B r=zsa  s—w3sm22 | s« CEREE

1 | BX30% : B=(A)E11 B =#setmn s 2(®)%20 B == 228014 Blz: a-

B | 08:50 | | 7 BT i) = : E—

$2% 09:10-09:50 B %

o 10:00 W= s=@=Ee BHz=zr a-@zuE Bazx. =— Bazx m=
114 B | Bz s- =) 36 B35%28{-338822 | 7 BB
= Bl 1100 Bz 2 s-®msx20 B zEx 3
= F4af 11:10-12:00 B #

g | #]13:10 Bexas s=@rnEse [Pz=wn:.s—@zrce BPlzeaves s-@szC [zaerwn 8=
16 | 2 | EevER s=3)821 Btz m—

& | 14:00 7 B
E Pl
I % |14:10
e | | Fof EE R

& | 15:00 L

% | 15:10

I
7 FTHE SRR
& | 16:00 1 Bl
16 : 10 X%

= | 08:00 W=xmE: s=@)ELR2 > EEET G RGN Wl = = — 35822 | s [EECHEE

1 | B sz s-@=w B it - m—=281033

# | 08:50 |

$2% 09:10-09:50 B ¥

2 10 : 00 [l=Ex  E=@ER
I

HEX : 5_(B)Z17CE
HEX : B2 (28220

\H,-I-

HEX : B—(8)B358822
B ssmsc ) (#)%281233

Cill 11:00 | seEs - H—
113 45 . . 7%
o 4% 11:10-12:00 B ¥
= #£5% 13:10-14:00 B8 %
g |%|14:10 Bleznz sz [Pervr s—@szc
17| 6 | Bl zzmssz . s-=)%20
& | 15:00
E =FEY - = (5 = e = =__ CE=
= BREY : B=(H)EL2 Bl = m—onzsceo Bz 5—%2833 11 REREE
(2) ; 15 ol > [:EF T I A Bl =eie s-@mxus2 ) b2 . 5—35822
- 16 oo EMEVER : B=(3)B21 E;éjfﬂﬁ%:%:(a);ﬁu %) it52 : E—
B ceensn . s=@E B rrgess  st@EHB2
16 : 10 % %
= = =
—832F361_38&31 —B41F401-36(£353281-32§122)
P _ i e — e (A] P
(E1f5) : B=R28%321_31 (E1f) : E”F17{_38831 e HA453%448445846
Gt®): B=R7E12(31 (®) : B_%3(3889 iﬁgg;@;%’%;?lfmﬂzz = | 414440468145
(B%) : B=H21%20 (B%) : ETZ14822 *f;"’ = :
(BFY) : B=B441232 (WFY) : B_B32%19 i IR LIt H4152308 38539
(%) : =212 (R) : B_m11 (g B8 = |#415i38%38
(EH) : 8=811 (B18) : BZ%19 B e
%) : =221 ) | BB MRS B 35H22 H45%£46847847
. =g . 2=m1 HERRIRE | B—%28(014 2 laeaargiar
Y m=E SR S XEIINVYIDIY : B—{"18

Biak : LR 114508 B Bsepen - 205 — iz BPE - Wiz 11a5e230n) [ wssena -



